LaampIon
Power & force

NnnocTpnpoBaHHbIM

KaTanor 3anacHbIX YacTen

Mogens: T437

1E40F-5GA 41 i <]

[EA0F=aGA GASOLINE ENGINE

EXPLOSIVE PICTURE

Ne ApTukyn HavnmeHoBaHue K-Bo Ne ApTukyn HanmenoBaHve K-Bo Ne ApTukyn HammeHoBaHne K-s0
1 02050070030 Craptep 1 27 03040020020 LLla6ba GB97 5 4 53 02070010165 MNpoknaaka 1
2 02050120002 DuNbTP TONAUBHDBIN 1 28 03050010015 LLlai6a npyxuHHanA 4 54 02050010040 nywwuTens 1
3 61330010019 LnaHr TonAnBHbIN 1 29 03010010046 BuHT 55 03010050006 Wnuneka 2
4 02050100006 MnaTa cobayek ctapTtepa 1 30 03100010024 CanbHuk 15x30x7 1 56 03030050003 Faitka M6 2
5 61330010018 LLinaHr npaiimepa 1 31 02050030073 Maxosuk 1 57 02070010086 MNpoknaaka 1
6 03020020027 BuHT M5X16 2 32 03030050010 Faitka M8 1 58 70030020015 Tennousonatop 1
7 70050030073 BaK ToNAMBHbIN 1 33 02050050181 MNpoBog cTon 1 59 03020020034 Bont M5X 25 2
8 02110020026 Mpobka TonaunsHoro 1 34 02050030118 MarHeTo 1 60 02070010073 Mpoknaaka 1
6aka

9 03020020012 BuHT M5x20 6 35 02080020012 3arnywka 1 61 02050020020 Kap6topaTtop 1
10 02020160432 3awwTa 6aka 1 36 03040050048 LWaiba cuenneHuns B 2 62 70030040107 Kpbiwka ¢unbtpa 1
11 02080020087 AmopTusaTop Haka 1 37 02050160006 CuenneHue 1 63 02110030079 Bont 1
12 02010030018 MNpoknaaKa cTapTepa 1 38 03040050043 LWarba 2

13 03030010017 Faitka M 8*1.25 1 39 02020130003 BonT cuenneHus 2

14 70030040012 Onopa ¢unbTpa 1 40 80010020071 KpblwKa cuennexua 1

15 02020160533 Mnata onopbl 1 41 80010020071 Bont M5x25 4

16 03020020044 Bont M5x55 2 42 03090020022 MoAWWNHUK Nanbua 1

17 02090010044 DunbTp BO3AYLLIHBIN 1 43 02020030014 Konbuo ctonopHoe 2

18 03100010009 CanbHuK K/Bana 1 44 02010020012 NopweHb 1

19 70070050054 KapTep cTop. cTapTtepa 1 45 02020010009 Nanew nopwHa 1

20 02070010124 Mpoknagka KapTepa 1 46 03020020053 Bont M5x12 2

21 03090010016 NoawunHuk 6202/P5 2 47 02020020008 Konbuo nopwHa 2

22 02020120037 KoneHBan 1 48 02070010037 Mpoknaaka umnuHapa 1

23 03070010002 LnoHka 3x13 1 49 70070130019 Umnuuap 1

24 03060010004 LTt B4x10 4 50 03010010062 BWHT M5x20 4

25 02070020046 MNpoknaaka baka 2 51 70030030530 KpblWwKa umMavHapa 1

26 70070050055 KapTtep cTtop.maxoBuka 1 52 03130010013 Cseya 1




LaampIon
Power & force

MﬂﬂiOCTpMpOBaHHbIVI KaTanor 3anacHbIX YacTen

Mogens: T437

F1G.

2: CG430GB SHOULDER BRUSH CUTTER

a7 4p |

19—
20— 2 )
G
67
Ne ApTukyn HavnmeHoBaHve K-Bo Ne ApTukyn HanmeHoBaHne K-Bo Ne ApTukyn HanmeHoBaHne K-s0
1 61270030006 PeaykTtop 1 32 70030180133 Ckoba noggeca pemHsa 1 63 80010050078 KpOHLWTENH HUKHMI 1
2 03120020002 Konbuo cTonopHoe 26 1 33 70030160007 duKkcaTop ckobbl 1 64 02110030022 XomyT 2
3 03120010001 Konbuo 10 1 34 03040030002 LWatba 5 1 65 02050060070 PemeHb 1
4 03090010015 MopawmnHmk 6000- 2 35 03010060053 BuHT M5X20 1 66 02060040025 Hox 1
2RS/P5

5 02020090063 Ban-wecTepHa 1 36 02010010091 LLTaHra (26%1.5*1500) 1 67 02110030004 KosKyx HOa 1
6 03020030014 BuHT M5X25 1 37 02020060017 Ban (1534mm) 1 68 02050220013 TpummepHas ronoska 1
7 03020030021 Bont M6X12 2 38 02040010003 BTtysika Bana (8*14*14) 6 69 03030010013 lavika M5 2
8 80010040019 Kopnyc peaykTtopa 1 39 02080020006 Yni0THEeHWe BTY/IKM Bana 6 70 03010010056 BuUHT M5*14 2
9 02020160080 Yawka 1 40 70080080136 PyKkosTka ynpaBneHus 1 71 70030030692 KpoHwTeiH 1
10 03020020018 BuHT M5X12 4 41 03010040037 BuHT 2.9X10 1 72 03010010062 BuHT M5*20 2
11 03090010013 MNoawunumk 6000/P5 1 42 70030070423 KHonka ctonopa 1 73 61270070072 Koskyx(Komnnekr) 1
12 02020090012 LLlectepHa 1 43 02020110044 MpysKuHa 1 74 70030030691 Koskyx 1
13 02020090029 Ban BbixoaHOM 1 44 70030070092 WrnoT 1 75 02010030001 Mpoknaaka 2
14 03090010014 MNoawunHuk 6002- 1 45 70030070421 Pbiyar rasa 1 76 03010110124 Bont M5x20 4
15 03120020001 Konbuo cTonopHoe 32 1 46 02020110028 MpyKnHa 1 77 70030030056 DapTyK Koxyxa 1
16 02020100020 LLla6a pepykTopa 1 47 70030070167 PykosTka, npaBas 1 78 03010040074 BuHT 1
17 02020100012 LLatiba Hoxa 1 48 03010040029 BuHT 2.9X18 2 79 03010040025 BuHT 2
18 03040050014 LWan6a 10 1 49 03010010064 BuHT M5*27 1 80 02020070102 Hox o6pesku necku 1
19 03030010008 laika M10X1.25L 1 50 02050040048 Tpoc rasza 1 81

20 03060020004 WnAanHT 2X16 2 51 03030010004 laika M6 2 82

21 61270020002 Kopnyc cuennexus 1 52 61350020001 O60n04Ka Tpoca rasa 1 83

22 02020050026 BapabaH cuenneHus 1 53 02050050296 BbikntoyaTenb 1 84

23 03120020004 Konbuo ctonopHoe 35 1 54 70030070422 CTOMOPHbIM pblyar 1 85

24 03090010012 Mopauw-k 6202-2RS/P5 1 55 02020110029 MpysKuHa 1 86

25 03120010005 Konbuo ctonopHoe 15 1 56 70030070219 PykosTka, npaBas 1 87

26 80010030075 Kopnyc cuennenus 1 57 03030060008 Fanka M5 1 88

27 02080020069 AMOpPTM3aTOP WTAHTU 1 58 80010050106 KpbiLwKa KpoHLWTelHa 1 89

28 03010010058 BuHT M5X25 8 59 02020160512 PykosTka npasas 1 90

29 80010050049 Ckoba A 1 60 02080020123 HabanpawHuk pyKoaTku 1 91

30 80010050068 Ckoba B 1 61 02020160462 PykosTka nesas 1 92

31 03010010060 BuHT M6X20 4 62 80010050059 KpoHwTeiH cpeaHmin 1 93




